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2 Wha I the velocity iy meters per second of & ailboard that ravels 149m away
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3, What | the momenrum of a §.35 kg basetall moving ut 3.75 mvs away from bame
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5, The beakes on a bicycle pply 125 N of fctional Torce 1o the wheels s the bicycle
Tayels 14.0m. How miuch work have the brakes ﬂmtwllubkyuﬂ
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11 Caleulate the mechanical advaniage of a ramp that 15 6.0 m lang and 1.5 m high
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12 Determine the mechanical wivantage of a susoemobile Jack that lift 1 9900 N car
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20, Explain why machines are not 100% effciens.
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